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REŠENJA ZADATAKA 
 
 
 
 
1. a) Ω≈ k3.41ER ; Ω≈ k7.12ER ;  Ω≈ k3.5CR . 

 

b) ( )( )[ ] 9.199
1

1||
||

||

12

12
1021

1

1 −≈
+

++
+

−==
Em

Em
ECm

Bg

B

g

i
v Rg

Rg
RrRg

RrR

Rr

v

v
a βπ

π

π  

 
c) kΩ54.2|| 1 ≈+= πrRRR Bgul . 
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4.  
 

constvI =−= 12V]V[ , za 4.5VV12 −≤≤− Gv  (IOP-neg. zasićenje, D -ON); 

3]V[2]V[ −= GI vv , za 1.5V4.5V −≤≤− Gv  (IOP-lin. režim, D -ON); 

]V[4]V[ GI vv = , za 3V1.5V ≤≤− Gv  (IOP- lin. režim, D -OFF); 

constvI == 12V]V[ , za 12VV3 ≤≤ Gv  (IOP-poz. zasićenje, D -OFF). 

 
 
 


